o
[y

o

~

a1
|

......................................................................

o
~
|

e T e e

o
w
!
b
&
&
-

T e

o
N
I

Selected tracks/TrackingParticles

09363640 50 60 70 80 90 100
Pileup

—=— DQM_TT__mkFit-DQM_original-lowpt

—— DQM_TT__mkFit-DQM_updated-lowpt

Selected tracks/TrackingParticles

Uy U.O

o

~

)]
|

o

~
|
%

o
w
o1

I
%

a

-':

Ly

L
o

PO L -

o
N
[
¢
b

I
Selected tracks/TrackingParticle
o
w
I
n
L]

05 ot

o
=
[T

.....................................................................

Ratio

5, A S— T III+++++-I++++++—+++§+++++++++++++++++§ ++*I++-+++++++§+4+++-+’

!
Ratio
=

16-1 1 16 162 0° -3 -2 -1 0 1 2 3
P, (Ge\}) n



	Contents
	Page 1


